
9/rl( h nqur pru pd n rtr bp fr tu n n h n rlh tr ur fu ur qur h'

,<$UulUfth rnbSUqUL <UUULUUFUL,, <hUtJUnnUUh 2025p.
bqUUnf\Slbnh bLt UUtuUbnh LUtuU<UChLl

(4pudutlurtr tlhgngtrbph dnrLnpbp tr bpbp)

(nr1{u6 2025p.
trrulururnbudur6

Utrrugnn4E un l-E hnrtr{ruplr 55 683,6

1 b ti u dn u.ntr b n {6 u p n {fr n ru n rg d urtr 6ur nr.u1 n rp1 n rtr fr g 180'100,3
2 b l.l u dn rmtr bn u{ b un u t{ urtr FJ n r2Efr g u m ur g tlur6 Sfrtr rutr u ur {n p n uJfr g 73 230,1

3 9n p6r.u ntr ur l.1uL ur1 1 bQ ur dn untr bp fr g 9 208,0
4 fl1 qnpEur ntr ur L1 utr b! ur dnLrntr hp l4 900,0

CbqudbLp rlnrupbp 277 438,4

1

u2fuuunutrpfi {urpdururpnrpluLp, pu{6urptrbpJrl, hurr{bFu{6urptrbpfrtr tl-
q u nqtru m n d urtr [ /u{ r} p{n rrl' qbU r.u r{ur p utrdtr ru ! u qd Jr/ n rqrl{n 11 {6 ur p n ultr bp 240 000,0

2 ul6unnriltrhn u{brnuIurtr p1nr2b 3 200,0
3 9ndnrUuL {6urptrbp 'r6 670,0
4 OnumuJhtr tr qruLqh {6urptrbp 714,0
5 Uu{ n urtrpurtrJ n rpru t{ utr q u2ur ntr bn h d bnppbp durL 6u fu u bp, n p frg 3 330,0

5.1

Lln ur u ULU u q u4 l1lr rx u{ n utrptl bn h du [u u bp /trbp
ntnnmLbnh/ 1 580,0

5.2 CLpu ghtl tr nn nqrlurtr u q n utrptr bnh tr lrln pbpfr 6ur fuubp 800,0
s.3 rlh q tn rltrbn h, ryb[n n u.rJph tr urJt u 14 n urLptrbnh d bnppbptlutr &u fu ubp 950,0

6 SnurLuulnnmuJhL rlhgngLbnh 6rirfu ubp 5 398,0
7 Uu nu{ n rpj n rtrtr bn h Lr u2fu u.r m utrptr bn h 6 bnppbp rftutr 6u fu u bp, n n h g 1972,0

7.1 Sr4uqnulurtr 6urfuubn 350,0
7.2 LlunpbphUqh tr qntlurqqh 6ufuubn 162,0
7.3 UJ L 6ru nurj n rpj n LLtr bn h tr ru2lu u rn rutrptr bn h 6 bnppbp rlur tr 6u [u u bp 1 460,0

8 Qh m u h bm tuqn rn ui Ll rutr qn p6n rtr bn rp1 n rtt 7 050,0
9 9 n pur 

U urtr pu n br.lr n |.u n ultr bn h tr l.{ ur n l1bn u: h 1.1 btr un p ntr | 6ur [u u bp 500,0
10 Lr bp tl urj ur g n rgru t{ urtr tr qn n6n u}ltrL 6tu Iu u bn 500,0
11 l'l tu utr n qur t{ urtr htrpL ur t{ ur nu {ui n rl urL du p rlfrtrtr bp fr 6ru fu u bp 500,0
12 Ult 6u[uubn, ru14 p{nul' 12 700,0

12.1 (hdLur+nurlbbnh, (9-trbnh hbun tr trtt lurrfuqnpburLlgnLplnrtrtrbpft 6urfuubp 500
12.2 U2luu ur udnrln rtrbn h tr rul t rlhlng u nn rdUbpft Eru fu u bp 200
12.3 rlnu duZtrnnhtrbnh ntr pu ght,| 6ru luubn 12000

'13 .-l-ur6urnurLlbrnh uu{tuutunt{rjruL tr tlur6un{nq r{qpu-rLptrhpfi 6bnB pbprJutr 6ufuubp 400,0
14 9npupn2urtl 2 973,1

1



ftb!Lnnp

$fuur{np hur2rlurquh

t-I.lu. (u!npltltr

9.9. unLpurrpurtr

Ctrnrudblrn ntrpuqh[,l 6urluuhn 295 907,1

1
tr uqhunruL urUunh{trhnh dbnp pbpnul 12 800,0

2 bpbn L1 ur qfr rn ur1 trn pnqn ulL bpfi q6ntl 5 000,0

3 9p ur rpu purLu4frtr 6u[u ubp 550

Ctrnurdbtrn [lurqhmurt 6ufu ubn 18 350,0

Ctrnrurlbtrn bpbn Uuqhmut h nhBurqhh Oufuubnh q6n{ 314 257,1

unmundnuPF qlnFundbBF uqrlugnFJntu[ l}nuuutltuu uptnguunp u rlpuug
hrurlundbptrbnh dnu 0,0

'rluhnrumu$ntrn 5 403,0

[Jtrurqnnn 13 461,9




